Secret Code Challenge 1

There are three riddles below written in a secret code.
Can youw unravel them?

Hint: Each letter of the alphabet has been replaced by a number, All the
riddles use the same code. If you are stuck, you can use our Code
Buster 1 printable to help break the code

2a[s8[1]z0] [8[1]19 2] Je[ala[s] [1[wa]a]
20/23[16] |8 |1 [14]/ 4 18] [2]21]20] [14[15]
1 .18 13 19 15|18 12| 5 | 7 |19 7
23| 8 1 20 7 5 I 9 14|19 1 14 | 4
s (14[ 4 (18] |8 |14] |s]| [2[21/20] [8]|1}]10
15|14[12][2s] [15]14]| 5| [12] 5 [20[20] 5 [18] 7 |
23[8[1]20 [8[1]19 [4] [rals[3 1] [=2]=z1]zc
14[15] |al|s[1]|a[7]
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